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Instructions for the candidates :-

1. olereff OMR SR U5d WR AUAT U YREISHT HHid (10 APl B1) e
fored |
Candidate must enter his/her Question Booklet Serial No. (of 10
Digits) in the OMR Answer Sheet.

2. oRIeTfl JATEa 37U Tl H & IR S |
Candidates are required to give answers in their own words as far
as practicable.

3w ek BRA W RY g e it A o §

Figures in the right hand margin indicate full marks.
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gedl &l SMYdd UG b foly qRIefdal &l 15 e &1 AfaRad a9
= T B |

15 minutes of extra time has been allotted for the candidates to

read the questions carefully.

g8 U3 GRAST &1 ol H 8, WUS—3 Ud EUs—4 |

This Question Booklet is divided into two sections: Section-A and
Section-B.

Gus—3 H 100 TS U €, FH & fb=gl 50 Ul &1 SR <Al
Ifard 71 U U @ forg 1 & uiRa 71 50 A e ueAl @1

JTR a7 WR Y2H 50 I DI & G-I HRYSR gRT AT ST | FE

IR U BRI T OMR SR 93 § ol T fdbey &1 -t / BTl

dfe U9 | UE o | fhdl W YR & geR /Rl Uard /fs / AEd

IS & STR—YGRAHT H TART HRAT F41 7, AT WA gRomH 3=
BT |

In Section-A, There are 100 objective type questions, out of which
any 50 questions are to be answered. Each Question carries 1
mark. First 50 answers will be evaluated by the computer in case
more than 50 questions are answered. For answering these
darken the circle with blue/black ball pen against the correct option
on OMR Answer Sheet provided to you. Do not use
whitener/liquid/blade/nail etc. on OMR-Sheet, otherwise the result

will be treated invalid.



7. Gus—q § 30 TSR U B, 4 4 fb=gl 15 Ul &1 IR <A
fard 2| uldw e & forg 2 ofw fRuiRa €1 g9a sfaRaw, 39 @ve
H 8 4 IR U il 2 R | Bl 4 el @1 SR <A1 2
U YT b foly 5 3 MeiRd 7 |
In Section-B, there are 30 Short answer type questions, out of
which any 15 questions are to be answered. Each question carries
2 marks, Apart from these, there are 8 Long Answer type
questions, out of which any 4 questions are to be answered. Each

question carries 5 marks.

8. ¥l UBR & Seldeii-h SUBRUT BT SKIATA Yuidal dfeid ¢ |

Use of any electronic appliances is strictly prohibited.

Section - A (Objective Type Questions
Tus—3 (axqfrs y¥)
U9 G&IT 1 ¥ 100 db P Uhd U b I IR dbey fou v € =8 9

@9 TP Wel | fB= 50 ULl BT SR U ERT g T HE fAded Bl
OMR—3fIc wR faffed & | u® w1 & fog 1 3f® FaiRd 7|

50 X 1=50

Question No.- 1 to 100 have four options, out of which only one is
correct. Answer any 50 questions. You have to mark your selected option on

the OMR-Sheet. Each question carries 1 (one) mark. 50x 1 =50

1. RS &1 9 fHd w1 Siar g 2

(A) S0 §o & (B) Arcerd



(C) veH A (D) i rfe=a=
Who is called the father of Economics ?
(A) J. B. Say (B) Malthus

(C) Adam Smith (D) Joan Robinson

it e & a1 # 9 fhgdT sreaae fhar Sirar g 2

(A) ST g (B) nfdie &y

(C) T 31 (D) 5% ¥ IS &
Which of the following is studied under Micro Economics ?
(A) Individual Unit (B) Economic Aggregate
(C) National Income (D) None of these

1 9 9 pI9 IATGH BT IRH © ?

(A) 1A (B) =1

(C) Tom (D) 377 =
Which of the following is a factor of production ?
(A) Land (B) Labour

(C) Capital (D) All of these

e BT a7 "3l o & s 5 ?

KNGS (B) e~

(C) Tsw Ry (D) S0 @0 HEaT
Who said “Economics is the Science of Wealth” ?
(A) Marshall (B) Robbins

(C) Adam Smith (D) J. K. Mehta



e ITTAR 3MJUTH A HedvT BT A & ?

(A) Yo wrEieT (B) dfeT ARger

(C) Sto w0 firet (D) TsH R

According to whom, Economics is a science of human welfare ?
(A) A. Marshall (B) Paul Samuelson

(C) J. S. Mill (D) Adam Smith

efee # ves wfte vd HAfe &7 YT UM o e =1 foar ?

(A) wrefe (B) HTeerd

(C) WI=R fihar (D) veH Ry

Which economist first used the words micro and macro in economics ?
(A) Marshall (B) Malthus

(C) Ragnar Frisch (D) Adam Smith

AT qRIT B Halg TIRT § ¢

(A) 1 STE B (B) &% Saured &

(C) Saurfed g% &1 faadxor & &1 (D) s &
The Central problem of an economy is :

(A) What to produce

(B) How to produce

(C) How to distribute produced goods

(D) All of these

fora srefegaven § oMd 9= & IR W iy forv o € ?
(A) FHTSTATS (B) Hoirare]



10.

11.

(C) fafra (D) 57 & P A
In which economy, decisions are taken on the basis of price

mechanism ?

(A) Socialist (B) Capitalist
(C) Mixed (D) None of these

I St s AHR BT ST & —

(A) ScuTeT dsh (B) #fT 9%

(C) SERIaT a5 (D) ST TG a5

Curve which shows an economic problem is -

(A) Production Curve (B) Demand Curve

(C) Indifference Curve (D) Production Possibility curve

TR AN BT Ibfcdd ™ T 8 2

(A) s T (B) Hger @

(C) A=t wrTe (D) e Tl

What is the alternative name of opportunity Cost ?

(A) Economic Cost (B) Equilibrium Price

(C) Marginal Cost (D) Average Cost

TR T veM e 7 | ea—r 2 ?

(A) 9RT &1 H (B) I Suifirar s e
(C) \w¥AT YA 79 (D) IUHIT BT T

Which is the First Law of Gossen ?

(A) Law of Demand



12.

13.

14.

15.

(B) Law of Diminishing Marginal Utility
(C) Law of Equi-marginal Utility

(D) Consumer’s Surplus

ST 996 Bl ©

(A) 1 g o7 3R IR (B) e fag @1 SR pafeiray
(C) (A)Td (B) <l (D) 374 ®Ig &l
Indifference Curve is :

(A) Convex to the origin (B) Concave to the origin

(C) Both (A) & (B) (D) None of these

AT SYARTAT 999 Y Pper T ©

(A) Suifirar gfg fram (B) Suifrar g™ =g\

(C) ufremu=t &1 (D) 374 A PIg ARl

Law of equi-marginal utility is called.

(A) Law of increasing utility (B) Law of diminishing utility
(C) Law of Substitution (D) None of these

PR TR # AT JATILIDHAT DI Yl DI &HT DI bud ©

(A) ScaTEHaT (B) wgfte

(C) ST (D) SIreERIa

The ability of a good to satisfy human wants is called :
(A) Productivity (B) Satisfaction

(C) Utility (D) Profitability

SUHIERIT BT Aol S 95 R BIAT & T8 :

7



16.

17.

18.

(A) FH= SYAIRTAT = H¥ (B) ¥ SYAIRTAT < oI
(C) AT Ui > e (D) 377% & @IS &
Consumer’s equilibrium takes at a point where :

(A) Mu = Price (B) Mu < Price

(C) Mu > Price (D) None of these

I DI IAD Tl 3PS & YANT H AT YA
(A) Tred 2 | (B) w3l 2|
(C) M &< B | (D) 3= B A 2 |

With consumption of every additional unit of commodity the marginal

utility :
(A) Decreases (B) Increases
(C) Remains Constant (D) Becomes Zero

gl SYIINAT ofg ReR &Il € a9 A= SuAar il § —

(A) @ (SERISED

(C) Fomctd (D) emeie

When total utility is constant then Marginal utility is :

(A) Zero (B) Positive

(C) Negative (D) Qualitative

SEAAT 95p 1 @lel ifbd d A fba &9 A1) el 8 2

(A) I AT URRITIT &% 9 (B) ¥HT ®UTORYT &R ¥

(C) AT ufeRenmu= &% 9 (D) 37 ®I1g e

By which of the following is the slope of indifference curve measured?

8



19.

20.

21.

(A) Increasing Marginal Rate of Substitution
(B) Marginal Rate of Transformation

(C) Marginal Rate of Substitution

(D) None of these

o UhR & a3 & Hed W HAT 89 F ART ¥ gfg T8l B8Rl © 7

(A) sHframt awgy (B) 3IRMERI® TRy
(C) faremfRrer avgy (D) 577 3 B¢

In which goods price fall does not make any increase in demand ?

(A) Necessity Goods (B) Comfort Goods

(C) Luxury Goods (D) None of these

T # IO aRgell T SETERT B

(A) =T T AN (SIS SRERSE]

(C) Bt Ud el (D) 91 Uq Bl

In following the example of substitute goods is :

(A) Tea and Sugar (B) Shoes and Socks
(C) Pen and Ink (B) Tea and Coffee

ART H B @ FEfoiRad | - BRUT § ?

(A) 31 B B (B) sarsii &1 H&aT | HHI

(C) SUHTadT & wfg | HHI (D) e |+l
Which of the following is a reason for fall in demand ?
(A) Fall in Income (B) Fall in Number of Buyers

(C)Decline in Taste of Consumer (D) All the above

9



22.

23.

24.

25.

q gfg o ‘R’ ageil &1 AT -
(A) 9 Il 8 (B) B¢ oIt &
(C) Rer <&l & (D) @1ReR 8 Wil

With a rise in price, the demand for ‘Giffin’ goods :

(A) Increases (B) Decreases

(C) Remains Constant (D) Becomes Unstable
AT &1 e R

(A) IoITHS HA (B) #I=TcHS 2

(C) (A) Td (B) =i (D) 5% | PIs e

Law of Demand is a :
(A) Qualitative Statement (B) Quantitative Statement
(C) Both (A) and (B) (D) None of these

SPTs I HH AN B g B A=feRag # 19 uefRig oxar 2 ?

(A) 3T a%qg (B) 3IRMa™I® a3
(C) e a%g (D) Sofers A
Which of the following shows elasticity less than one ?
(A) Necessity Goods (B) Comfort Goods

(C) Luxury Goods (D) All the above

40T &) g fbds YR &I 8l & 2
(A) & (B) ur=

(C) v: (D) wara

10



26.

27.

28.

How many types of elasticity of demand are there ?

(A) Three (B) Five

(C) Six (D) Seven

i el o @ g H 40 UfTed HHI & BROT ART H 60 Ulawrd glg 8
AT B A B

(A) 05 (B) —15

(C) 1 (D) o

If the demand for a goods increases by 60% due to 40% decrease in
price then the elasticity of demand is :

(A) 05 (B)—15

(C) 1 (D) 0

NMIATHR TR ART 9 /4 # | 771 fegermar 8 ?
(A) QUi dArRR AR (B) guicar AMEeR A
(C) 3®IE HIT o (D) 374 A PIg ARl

A rectangular Hyperbola Demand curve shows ?

(A) Perfectly Inelastic Demand (B) Perfectly Elastic Demand

(C) Unitary Elastic Demand (D) None of these

i IUMIET @1 M gfg F awg ‘X @ AT HH B W 7 odl awg X
arfli—

(A) SfraT Reted I (B) amaeged a¥q

(C) faemfire awg (D) =fear a%g

11



29.

30.

31.

If the increase in income of Consumer, reduces the demand of
commodity ‘X’ the commodity ‘X will be :

(A) Life Saving Object (B) Essential Commodity

(C) Luxury Goods (D) Inferior Goods

afe qeg ¥ URads & qrac[g AT & 931 § P18 uRadd 9 & g8 Rerfa
S

(A) SHIE DHT Ard DI (B) 3= ®IHd oI @l

(C) T Hd Ard & (D) 379 ¥ @IS T8l @l

If there is no change in quantity demanded in response to any change
in price, it is a situation of -

(A) Unitary Price Elasticity (B) Infinite Price Elasticity

(C) Zero Price Elasticity (D) None of these

g DI 9 Ul dodl & Y ReR B Tl IR™ Hal § ?

(A) APP (B) MPP

(C) TPP (D) 3 |+

A curve which rises first and starts declining after that is called ?
(A) APP (B) MPP

(C) TPP (D) All of these

IAEH BT Afhd A 3 -

(A) ToiT (B) =1

(C) 1A (D) &7 & ®Ig &

Is an active factor of production is :

12



32.

33.

34.

(A) Capital (B) Labour
(C) Land (D) None of these

aRacdTefier orgurd &1 oM Sared @ 9 oraermell @ @@l dRdl w,

IAET & YJH TR H

(A) AT 3R i STeH 98 §
(B) W= SATEH 9@l ®

(C) sfrd Saure fiRar &

(D) A1 I@TE ¥ BIAT @

Law of Variable proportion explains three stages of production. In the
first stage of production :

(A) MP and AP rise (B) MP rises

(C) AP falls (D) MP is Zero
frforRaa & 9 @9 @Ry &1 aeE T8 8 ?

(A) f (B) =

(C) ga (D) et

Which of the following is not a factor of production ?
(A) Land (B) Labour

(C) Money (D) Capital

TH BH BT SUTET el ® -

(A) ST (B) amral ud forfal # awe
(C) < (D) e
The production function of a firm is :

13



35.

36.

37.

(A) Production
(B) Relationship between inputs and outputs
(C) Cost (D) Factor

TP H Scured ufehar # fF=forlRad § o—1 9= 8ld & 2

(A) Rer wmes (B) uRad-efier wmers
(C) (A) Td (B) <t (D) &7 & BIS el
Which factors are used in short-run production process ?
(A) Fixed Factor (B) Variable Factor
(C) Both (A) and (B) (D) None of these

ON ON (N

freforfRaa & o 981 2 ?

(A) TVC =TC-TFC (B)TC=TVC-TFC
(C)TFC=TVC +TC (D) TC=TVC xTFC
Which of the following is correct ?

(A)TVC=TC-TFC (B)TC=TVC-TFC

(C)TFC =TVC +TC (D) TC = TVC x TFC

= # B9 AR 93§ ?

(A)AC=TFC-TVC (B)AC=AFC +TVC
(C)AC=TFC + AVC (D) AC = AFC + AVC
Which of the following equations is true ?
(A)AC=TFC-TVC (B)AC=AFC +TVC

(C) AC = TFC + AVC (D) AC = AFC + AVC

14



38. UBIUPR Td YehlErbR Uferaiirar # gidr g ?
(A) AR = MR (B) AR> MR
(C) AR < MR (D) 374 A PIg ARl
In the monopoly and monopolistic competition :
(A) AR = MR (B) AR> MR
(C) AR <MR (D) None of these

39. TP BH iy & Rafd & ff ST 9 ol & 99 -

(A) g AT AR | 31w 8T

(B) 7o 3R 3Id AN SRTR &
(C) qeu 3iad uRad=-eliel oTa ¥ 3ffdres &l
(D) ea 3iad gRad=efiel avTa & &9 &

A firm produces in the state of loss when :

(A) Price is greater than AC (B) Price is equal to AC

(C) Price is more than AVC (D) Price is less than AVC
40.  ®H & Fged Bl girardl wd ®

(A) MC =MR (B) MR =TR

(C)MR = AR (D) AC = AR

The basic condition of firm’s equilibrium is :
(A) MC = MR (B) MR = TR
(C) MR = AR (D) AC = AR
41. o9 BT a&g B Hd H 40 i B gig B W= gid H dad 15 gl
o1 gfe &1, U avg Bl gl B

15



42.

43.

44.

INERUEERSICEN (B) dGR
(C) ddreR (D) guid: JaraeR
If the price of the goods rises by 40% and supply increases by only

15%, the supply of goods will be :

(A) Highly Elastic (B) Elastic

(C) Inelastic (D) Perfectly Inelastic
iR Rerfd R avg &1 UF &l 811 @ -

(A) T (B) wrrsareh

(C) samfIdR (D) s & @I -7l
Market situation where there is only one buyer :

(A) Monopoly (B) Monopsony
(C) Duopoly (D) None of these
fsT qroiR # % @7 ART 9% gl AEeR 81T § 2

(A) 7ot sifcrenfera (B) TiferaR

(C) vafarerR uferarfirar D) ELIEEI

In which market demand curve of a firm is perfectly elastic ?
(A) Perfect Competition (B) Monopoly

(C) Monopolistic Competition (D) Oligopoly

fPd JHR & IR AT H {6l 9] BT U AR dddl U ITGd Bl
2?

(A) o7 wfcrnfira (B) vt

(C) srget wfcrnfir (D) =74 & BIg &I

16



45.

46.

47.

In which type of market structure, there is one and only one producer

of an article ?

(A) Perfect Competition (B) Monopoly
(C) Imperfect Competition (D) None of these
QTSI AT ol fr=ifeiRad § eia— fazivar € ?
(A) faddiqd STq (B) fawa amTdi
(C) STSTR T 3qot 51 (D) Swia

Which is a feature of monopolistic competition ?
(A) Differentiated Product (B) Selling Costs

(C) Imperfect Knowledge of Market(D) All the above

fog IroR § AR I ‘X’ 3187 & FHEHTAN BT © °

(A) T gfcrfira (B) UIRIBR
(C) U RT wferaiireT (D) 37+ & =T
In which market AR curve is parallel to ‘X’ axis ?
(A) Perfect competition (B) Monopoly
(C) Monopolistic competition (D) All of these

IR Hod e BIdl ©

(A) 31T TTBTAT T | (B) 9T I
(C) @i & ¥ (D) 74 & |+
Market price is associated with :

(A) Very Short Period Price (B) Normal Price

(C) Permanent Price (D) All the above

17



48.

49.

50.

51.

BT I fa=g W FgiRa sl € s

(A) T B AR e & (B) axg @I gftf sy &
(C) g o a7 vd gff kR &1 (D) 39 & BIg &
Price of a commodity is determined at a point where :

(A) Demand exceeds (B) Supply exceeds

(C) Demand equals supply (D) None of these
e drma fFreRer ufdhar § 993 @ &1 R uqd fear ?

(A) Raprei (B) areRa
(C) #retet (D) S0 &0 HEaT

Who gave the concept of ‘Time Element in price determination

process ?
(A) Ricardo (B) Walras

(C) Marshall (D) J. K. Mehta
SIfr oreeTer # Uit @

(A) oIa: SfreeR (B) qUIat: garaeR
(C) efrererR (D) &7 & ®Ig el

In very short period, supply will be :

(A) Perfectly Elastic (B) Perfectly Inelastic

(C) Elastic (D) None of these

AT e @1 Refd gt § <19 ¢

(A) AT @1 AT gt @1 g # &ifde &1 (B) AT vd gfth sRmeR &
(C) yfcf =i & arfere & (D) T4 ®Ig Tl

18



52.

53.

54.

There is state of Excess Demand, when :
(A) Quantity demanded as compared to supply is high
(B) Demand and Supply are equal

(C) Supply is higher than demand (D) None of these
AR Pd BT R = # s gt venfud g g ?

(A) HrT (B) it

(C) (A)Td (B) qril (D) & & B¢ el
Which determines the equilibrium price ?

(A) Demand (B) Supply

(C) Both (A) and (B) (D) None of these
FAE A & FeIT BT a9 3

(A) T 3T BT g (B) SuHTadT o1 Rygr=
(C) SWe® &7 Rigr (D) 374 A PIg ARl

The subject of the study of Macro Economics is :
(A) The theory of National Income

(B) The theory of Consumer behaviour

(C) The theory of Producer behaviour

(D) None of these

RTGTIR ﬁ'lc&l*d Dl T+ %\r :

(A) e e | (B) &fte seieme
(C) wafte sefare (D) ¥ ¥ H1g 7L
Employment Theory is related to :

19



55.

56.

57.

(A) Static Economics (B) Micro Economics

(C) Macro Economics (D) None of these

Fafte 37l 31eqI= Bl © :

(A) gUT RISTR (B) 9T DA &R

(C) Hhel IR IUTE (D) SWRIaa |

Macro Economics studies :

(A) Full employment (B) Aggregate price level
(C) Gross National Product (D) All the above

elh & I=aiid A=forRad & e wfier 8 ?

(A) F&T T afRero (B) &

(C) e H g g &I AT (D) Sudad |+l
Which of the following is included in stock ?

(A) Quantity of Money

(B) Wealth

(C) Quantity of wheat stored in warehouse

(D) All of the above

frfaRed # & o= a1 wufic e o fvgawg T8 & ?

(A) TSI 31 (B) faesh faftmy

(C) | &1 | (D) TSI =g
Which one of the following is not a subject matter of macro
economics?

(A) National Income (B) Foreign Exchange

20



58.

59.

60.

61.

(C) Law of Demand (D) Public Expenditure
Jarg & A RAfIRad H i omfe & 2

(A) SUHIT (B) frrer

(C) sma (D) Sugat &
Which one of the following is included in flow ?

(A) Consumption (B) Investment
(C) Income (D) All the above

9 &= Afsol § fAeforlRad o o onfaea 8 ?

(A) TRaR (B) wH

(C) WRBR (D) e |+l
Which one is included in three-sector model ?

(A) Family (B) Firm

(C) Government (D) All the above

JAIS &5 & a1 # | -1 Har |ffera 8 ?
(A) T (B) frysior

(C) ¥ (D) TegaTer

Which service is included in Tertiary Sector ?

(A) Mining (B) Construction

(C) Communication (D) Animal Husbandry

U Srefeuaven ¥ ai—3r & aftafora vedr € ?
(A) Trarfied (B) fgdias
(C) 7w (D) 3% &

21



62.

63.

64.

65.

Which sector is included in an economy ?

(A) Primary (B) Secondary
(C) Tertiary (D) All these
I TSl & IUHRT &I FIT PeEd 8 2

(A) i Frfor (B) 7 &

(C) frrar (D) g+ & &
What is called, consumption of Fixed Capital ?

(A) Capital Formation (B) Depreciation

(C) Investment (D) All of these

ReR I WR 3MHford Adha I IATE F7 8 2

(A) ar<ifds GNP (B) arifds GDP

(C) 1 GNP (D) & & FIE T

GNP calculated on fixed price is what ?

(A) Real GNP (B) Real GDP

(C) Money GNP (D) None of these

3R T Q¥ & foIg fAQqer & Ured g A M AHRIAD & a9
(A) GDP = GNP (B) GDP > GNP

(C) GDP < GNP (D) GDP # GNP

If for a nation net factor income from abroad is negative then :
(A) GDP = GNP (B) GDP > GNP
(C) GDP < GNP (D) GDP # GNP
ferrae =g faes Affaford <gdr & ?

22



66.

67.

68.

(A) GNPyp (B) NNPyp

(C) NNPg¢ (D) foosit 9 =21

Depreciation expenses are included in :

(A) GNPyp (B) NNPyp

(C) NNPegc (D) None of these

U BRE] &F H 9¥ & Ifid Scdliad AT aRgRAl dAT Hardl & deR q
Pl BB ©

(A) B T ST (B) T 3

(C) et =R 3T (D) fage sita s

The market value of all final goods and services produced in a
domestic territory over a year is called :

(A) Gross National Product (B) National Income

(C) Gross Domestic Product (D) Net National Product

urIAE & | FfeiRad H ®I9 WA & ?

(A) f (B) o

(C) @ (D) A =+

Which one is included in Primary Sector ?

(A) Land (B) Forest

(C) Mining (D) All these

M A & bl H el ] AT Wal &1 Jod Ub | 318 IR A
PRI DA B

(A) Tel IO GIESURNE

23



69.

70.

(C) aget ToT (D) s & @I -7l

To include the value of goods or services more than one time while
calculating National Income is called :

(A) Single Counting (B) Double Counting

(C) Multiple Counting (D) None of these

IR oy FrefoiRad # v |fferd fasar Siram & 2

(A) EXITRYT 3T (B) ¥R 4 dfve @f fdwl |y i
(C) BTal & & U 31y (D) 3T ¥ B 2l

Which one is included in National Income ?

(A) Transfer Earning

(B) Sale proceeds of shares and bonds

(C) Earning from Black Money

(D) None of these

Thd AL IATE ® oA ¥ f=faRaa # few aftaferd w81 fear siar 87
(A) R aK31 &1 3 fasha (B) wemrardi a¥y

(C) (A) td (B) a1 (D) &4 | PIg &

Which of the following is not included in calculation of Gross National
Product ?

(A) Purchase and sale of old commodities

(B) Intermediate Commaodity

(C) Both (A) and (B)

(D) None of these
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71.

72.

73.

74.

&1 & MU BRI & Fia [rforRad # by enfid fhar iram & 2
(A) I Y bl q419 (B) g &1 Hag

(C) 48 BRI (D) Sudad |+l

Which one is included in the secondary function of money ?

(A) To measure Deferred Payment(B) Store of Value
(C) Transfer of Value (D) All the above
fFrfaRed & ¥ dH—1 ga1 &1 F 81 © ?

(A) fafa o1 Areaw (B) BHa Rerdr

(C) Hea w=g (D) ofET &1 SHhIE
Which of the following is not a function of money ?
(A) Medium of exchange (B) Price Stability

(C) Store of Value (D) Unit of account

qaT & U R B | g ?

(A) Uiy B (B) fe<ias »rd

(C) STHRTF BT (D) =% & &

What are the main functions of Money ?

(A) Primary function (B) Secondary function
(C) Contingent function (D) All of these

qaT & i # Afafod 7

(A) Teg FeiReT &R (B) Heg |ferd &
(C) fafrar o1 wream (D) s7¢ =it
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75.

76.

77.

78.

The function of money includes :
(A) Value determination (B) Store of value

(C) Means of exchange (D) All of these

ARG Il §RT WIHR @I I dlell SHN & -

(A) =TT ST G EEsESI

(C) rafer s (D) Sudar
Deposits accepted by the Commercial Banks are :

(A) Current Deposits (B) Saving Deposits
(C) Time Deposits (D) All the above
g BT Tor B Far g ?

(A) FOT ST (B) STAT WIHR &R

(C) T &1 B HAT (D) dlfax gfaem <=

What is the Agency Function of Bank ?

(A) Advancing Loan (B) Accepting Deposits

(C) Act as Trustee (D) Giving Locker Facility
RTATRE §bT & 0T BRI DI A & ?

(A) ToI7e & w9 H PR (B) g SUAIRTAT & BT
(C) wmHIiST® B (D) e |+l

Which is the Secondary Function of Commercial Bank ?

(A) Functions as an Agent (B) General Utility Function
(C) Social Function (D) All the above

gy Rord d 2
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79.

80.

81.

(A) F=ET (B) @muiRs I

(C) TR T (D) 3% & BIg el
Reserve Bank of India is :

(A) Central Bank (B) Commercial Bank

(C) Co-operative Bank (D) None of these

freforRad o PI—dT B1Y b BT B T8l & ?

(A) Aret &1 A (B) 1@ gord

(C) gl IR @1 oy (D) & TR &1 iRy
Which of the following is not the function of Central Bank ?
(A) Issue of currency Notes (B) Credit Creation
(C) Open Market operation (D) Fixation of Bank Rate
IR BT UoTTell BT WRed DI 7 ?

(A) R4 9% 3ifw sfoean (B) ¢T 9% 3% sfosan

(C) gfie g oiip gfvea (D) ¥R SitgT d1 |

Who is the custodian of Indian Banking System ?

(A) Reserve Bank of India (B) State Bank of India
(C) Unit Trust of India (D) LIC of India

Hifee T &1 T SR B

(A) UG TG ISR 4 g (B) o ReRar

(C) faceh fafa &= # Reran (D) 75
The major objective of monetary policy is :
(A) Increase the output and employment
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82.

83.

84.

(B) Price Stability

(C) Stability in foreign exchange Rate

(D) All of these

4T ARt ATSHT ! 9o fod a9 @f iy ?

(A) 1990 (B) 1995

(C) 1997 (D) 2000

Banking Ombudsman Scheme was announced in which year ?
(A) 1990 (B) 1995

(C) 1997 (D) 2000

IRA H dfhT & &1 IR IR Bl -

(A) 1969 H (B) 1981 #

(C) 1991 # (D) 2001 ®

Banking Sector Reforms in India began in :

(A) 1969 (B) 1981

(C) 1991 (D) 2001

TRRYEH Gl &1 yfdded fedas gar q qwfd g ?

(A) HRRIIT H FEIR (B) v gurR

(C) dfpTr garR (D) =IR® JIR
Narsinham Committee Report is related to reform of which of the
following :

(A) Taxation Reform (B) Administrative Reform
(C) Banking Reform (D) Trade Reform
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85.

86.

87.

88.

BT BT ISR Rigr= fod R ik g 7

(A) sl At (B) gt

(C) ScTe &7¥eT (D) 378 | BIg T2

On which factor Keynesian Theory of Employment depends ?

(A) Effective Demand (B) Supply

(C) Production Efficiency (D) None of these

fafeer eefRmEl SF A9 &9 @ §Wd T SFRd AR 3% URARRE

ee s T fre af g g€ ?

(A) 1926 (B) 1936
(C) 1946 (D) 1956
British Economist J. M. Keynes famous books “The General Theory of

Employment, Interest and Money” was published in which year ?

(A) 1926 (B) 1936

(C) 1946 (D) 1956

oTaqol #AT R PRa &

(A) 9T ART W) (B) 997 Yfid wR
(C) (A) 3R (B) &HT W (D) 37 & BIg e

Effective demand depends on :

(A) Aggregate Demand (B) Aggregate Supply

(C) Both (A) and (B) (D) None of these

fAFRITT &1 A= 9 gfg 89 & |F—dre Yoil o 4 Iaresar (MEC)
(A) i 8 (B) wredl &
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89.

90.

91.

(C) ReR &< 2 (D) 3T | @13 el

With the increase in investment “Marginal Efficiency of Capital” (MEC) :
(A) Rises (B) Falls

(C) Remains Constant (D) None of these

[aN

BT b e & = ¢

(A) wTaet AT (B) SuHIT ygRY &

(C) = ugftr & (D) 7% 3 wef

Keynes theory is associated with :

(A) Effective Demand (B) Propensity to Consume
(C) Propensity to Save (D) All the above

fhd® TR ‘Holgel H Heldl deuaeel § WHfdd 7 9 Yol ISR &l
ENIRCARCE I IS eCr I

(A) I (B) ®r

(C) et (D) 3% & BIg el

“‘Wage cut maintains full employment in the economy “. Who put
forward the view ?

(A) Pigou (B) Keynes

(C) Marshall (D) None of these

o @ AT oTd & Jea R 2

(A) M & WR W (B) TSl &1 | ITadhdl W
(C) ¥\ SYMIT Ugfa oR (D) fafs=T @1 #7131 W
The value of Keynesian investment Multiplier depends on :

30



92.

93.

94.

(A) Income Level
(B) Marginal Productivity of Capital
(C) Marginal Propensity ot Consume

(D) Investment Level

ISR o1 RygT=d gfeafed fbar T

(A) DI &1 (B) ®Te ERI

(C) =9 gRT (D) ArETe gIRT

The theory of employment multiplier was propounded by :
(A) Keynes (B) Kahn

(C) Hansen (D) Marshall

JIBIfAD TRTT Pl <Imei # -

(A) AT # ol 9 gfg B © (B) gfcf # Tolt & gfg Bich @

[ [

(C) Ut wd AT SHi SRR 8d & (D) 3718 | DIg A8l

In the situation of deflationay gap =
(A) Demand increases rapidly

(B) Supply increases rapidly

(C) Both supply and demand are equal

(D) None of these

UCHS |G [0 &1 DI A1 fafer g 2
(A) 0T BT AT 3MaeIHar # gRad+
(B) ARG ! RrerfeiT

(C) ugeT Hriare!
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95.

96.

97.

(D) S |+l

Which is the qualitative method of controlling credit ?
(A) Change in Marginal Requirement of loan

(B) Credit Rationing

(C) Direct Action

(D) All the above

Il ISl & oI o A1 9o qad IUGAd BT & 7

(A) GC &1 FoIe (B) w=fera duie
(C) 9 &1 quic (D) s7° & |+

Which of the following budget is suitable for developing economies ?

(A) Deficit Budget (B) Balanced Budget
(C) Surplus Budget (D) All of these
goic =1 9 9 B9 A1 7 § ?

(A) wtfe (B) ST

(C) w (D) ¥ ¥ Prg T
Which of the following words is ‘Budget’ ?

(A) Latin (B) German

(C) French (D) None of these

T QU DI GaT D (Al o < B &1 & w9 H DA Dl Hed ©

(A) YT BT Gl (B) staead
(C) fafsma <= (D) 7T 79
The price of a currency in terms of another currency is known as :
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98.

99.

100.

(A) Balance of Payment (B) Devaluation

(C) Exchange Rate (D) Value Depreciation

TR el T ref 8raT 2
(A) TSl &7 oF—<A (B) a1l &7 3maTd wd i

(C) |t sise dern sfae (D) 7° & |+

Balance of Trade means :

(A) Capital Transaction (B) Import and Export of goods
(C) Total Credit and Debit (D) All the above

Uoll @ & =i ffoiRad &I |1 98 enfAe fabar Sirem & 2

(A) TR A1 (B) fsh wie

(C) fac=h et fafamT (D) S |+l

Which one of the following item is included in Capital Account ?
(A) Government Transactions (B) Private Transactions
(C) Foreign Direct Investment (D) All the above

= o A1 ey W B ?

(A) 3TIHR (B) AR @R

(C) ScUTeT Yob (D) SUBR @R

Which of the following is indirect tax ?

(A) Income Tax (B) Wealth Tax

(C) Excise Duty (D) Gift Tax

Yuvs—9 / Section-B

e 3N 939/ Short Answer Type Questions
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U AT 1 W 30 T g SN © | 59 A bl 15 Ul BT SR ° | YAD U
& forw 2 ofe PEiRa &) (15x2=30)

Question no. 1 to 30 are Short Answer Type. Answer any 15 questions.

Each question carries 2 marks. (15x2=30)

1. gafte 3o | oMY T IHed § ¢

What do you mean by ‘Macro Economics’ ?

2, faf3rg srefcgaven & uRYINT BT |

Define Mixed Economy.

3. W STAIar & gRYIRT BTy |

Define Marginal Utility.
4 AT & = geR ford |

Write down the different types of demand.

5. quid: JArIER ART T § 2

What is meant by Perfectly Inelastic Demand ?

6. yfawe & | 9 =7 sifur g ?

What is meant by Laws of Returns ?

7. 69 3IEd AN gAqH Bial § ?
When is average cost at its minimum ?
8. Hel 3T &1 7 ?

What is Total Revenue ?

9. B b AR W R T g 7

What is the meaning of Firm’s Equilibirum ?
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

T gl T e gfd # SR e B |

Distinguish between individual supply and market supply.
9ff @ @ @ IR Feike Ted RiRag |

Mention four determinants of elasticity of supply.

qof GRITRTAT @& gR¥T |

Define Perfect Competition.

el avq @ B Perfvor ¥ <1 Aecyyl it P ¥ ?
Which are the two important forces that determine the price of the
goods ?

FAfte srelemre @ favaTy qarsy |

Mention the features of Macro Economics.

srefareaven & fgdias &= @ aRumsr Of |

Define secondary sector of the economy.

Y€ TR IATE | R FAS & 7

What do you mean by Net National Product ?

qaT & el @ w1 o

State any two functions of money.

ARG A FIT 3 7 7

What is meant by credit ?

I TIReTar TguTd a1 7 ?
What is Statutory Liquidity Ratio (SLR) ?

gHTaqel AR BT aREIT BRI |
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21.

22.

23.

24,

25.

26.

27.

28.

29.

30.

Define effective demand.
e ores & g IR |
Define Investment Multiplier.

THIferes 3raRTel &1 gRYTST T |

Define Inflationary Gap.

Hifgsd Nfd @1 7 ?

What is Monetary Policy ?

Yol dIOR @ febard o giefl 8 2
What are open Market Operations ?
¢ & doic | 7 AR B ?

What is meant by Deficit Budget ?
yTfareiiel ) @t g < |

Define Progressive Tax.

ATISI T T BT IIHTHRIT Y |

Classify Public expenditure.

Rl R &) omafd @ < did gaesy |

State two sources of supply of foreign exchange.
Araefie i <= fod @ed € 2

What is meant by Flexible Rate of Exchange ?

YA 2 BT gRareT DR |

Define Balance of Payment.

<" 99" 939 (Long Answer Type Questions)
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U3 T 31 9 38 Tb <" SR U 2 | 399 9 fh=i 4 U & SR < | UAD

ye & forg 5 o FeiRa §) (4x5=20)

Question no. 31 to 38 are Long answer Type. Answer any 4 questions. Each

question carries 5 marks. (4x5=20)

31.

32.

33.

34.

35.

36.

37.

38.

TeXIdl dhl Pl faPiyasnt & oISy |
State the characteristics of Indifference Curves.

HT AIfeTdT &1 Feradl ¥ J1T & 999 &I W BT |

Explain the Law of Demand with the help of a demand schedule.

uRad=efia argurd & oM &) s SIS |

Explain the Law of Variable Proportion.

el 3NTH, NI SMTH TG WHE A Bl S&IERv Higd R
BT |
Explain Total Revenue, Average Revenue and Marginal Revenue

with example.

TSR 3T & Hed Dl W< HIY |

Explain the importance of National Income.
qaT & Ui Ud TI0T Bl BT avi @ |
Explain the Primary and Secondary functions of money.

IR R 96 & g SRl &7 Seoid N |

State the main functions of RBI.

g6l B Ud 3IUTe] HR H =R g1y |
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Distinguish between Direct Tax and Indirect Tax.
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